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Output 1 of 4: Baseline condition with 0.8% Heavy Vehicles: BNL = 61.5 dB(A) 2018 traffic forecast from 2017 quarry ES

Appendix N: Outputs from online Noise Calculation tool

http://resource.npl.co.uk/acoustics/techguides/crtn/


Output 2 of 4: Condition with additional 110 Heavy Vehicles (total 3.0%): BNL = 62.6 dB(A)



Output 3 of 4  'Busy' Condition with additional 140 HGV (Total 4.0%): BNL = 63.0 dB(A)



Output 4 of 4  'Busy' Condition with additional 220 HGV (Total 5.1%): BNL = 63.4dB(A)
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